RCE Hii E13PE 2175 E16451.64nt 19864E (8L224E) T #i6+ A

No % 0 fr ¥k B O #H BE|HE M ki)
20100530 EMERIE

1 |EVHA—N XHFHELE HERBIE
KIFR— R BEFERS%) B GEFES -V #iE. TN -&5h) &Rr 12.0| 38,500 462, 000
KIP— PRz GEFERS) |[FEHE GEEN -N #iE. Ty 58 & FT 10.0| 35, 600 356, 000

2 |BKET Ery—F HofE GEF RESR 6EVAIE4AELET) HEBIRE
BV B % M 1.0~2.0m2 (it - THMHE - #E - o —V o7 - BERD) i 26.0| 8,400 218, 400
X BIEIRHEE 1008 LEBECVDEWVWLOD% 2 6 ERTHIH,

3 |HBmBER K ZH (FEM BEHRBOA BEEEEESHERL) THEBLAE
ErimimER S =8 RY B —HRF— MR nf 170.0| 2,800 476, 000| %8

4 [PMAERA FEHIH THEBIH®
FHEEAR R b ATH#a KS-MB605SS-D & 1 ¥ /L EE(T (5030 55.0( 15,200 836, 000
FARER R hAZH# susBIMTS-220 (BEfFE#E. Fa%) & 55.0] 7,200 396, 000
M2BBEORRER-o>TWVET,

5 |EVEREIZY 77— FRELF HEBLR®
EVEBREFSY 7— FRE |7/ IREES BEFREXIED &rr 1.0| 56,000 56, 000

1/3 EAIOZa=F«




RCiE Hu E13ME 2177 #E16451.64nf 19864F (5£224E) T H#i6+ A

No % i it % B ol % | B M@ &%8

6 [MEILIXToI—KH THE BRI
BRI L T AT vy = |BEFEATI- LR CYR LA DY) AT 11.0[ 1,600 17, 600

7T |REKTHIE HERR&
EHERERTIE
R E R TDO1~100E PR Y. BET IR nf 238.0 850 202, 300
RERITO1~6F RS, BET I S m 201. 0 850 170, 850
&R B NyFET S AT 2.0 35,000 70, 000
HTRE (BYWELRGOM) |KFEEBE (Gyovylh) m 152. 8 150 22,920
S/ NERRE Wi - BEE S0 nt 439.0 80 35,120
BB - R nf 439.0 200 87, 800
B TE
REHKTO1~108 mEBH  120~150kg/cni m 238.0 100 23, 800
K& RIT@1~6p mEBHE  120~150kg/cri m 201.0 100 20, 100
Dl IV07 e - A
K& KRITO1~10p% BEFTE  2RATUE VIV Ry-I S U7 -V 7Y S m 92.0 980 90, 160 |BE O
& HKITO1~6F% BETESTHE  ORRATUR VOV Ry-Iu B U7 )=V 447) S m 83.0 980 81,340 |BHOE
HNEERH ETE
R E HhiT D1~ 100 PR 47— (RO ) +K V) av by 7" (IEIB YY) m 268.0| 1,650 442, 200
R & KT @1~6F WORMET 17— (RO E) +7K V)3 by 7" (K75 YY) m 197.0| 1,650 325, 050

2/3 g e e B, P




RCYE #b F13PE 2177 ¥E16451.64nf 19864F (§£224E) T#A6» A
No Z g5 T ¥k B % & filh &R
8 |SkEHEL—Y) /I E
S PEEYIRIER B # BETFATHE 2RO VOVIVRy-I0 S v -4 347)  _HEE i 254. 7 980 249, 606 [10X10
CREPEEYERANIAT SV B/l BT 2maTA VR B VT ) 047 ZR =Y /| of 108. 8 980 106, 624 [20X 15
EA/ATOZa=7~«

3/3



